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A car accelerates from rest at a constant rate « for some time after which it decelerates at a
constant rate 3 to come to rest. If the total time elapsed is t seconds, the total distance
travelled is :

Options :

-2:1'[:’1 2

t

8643518371, (@ T P)

o B
2(a + B)

tE

8643518372.

da B
(« + B)

8643518373.

o B

4 o 4
8643518374, 1@ T B)

Question Number : 1 Question Id : 8643512791 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

61BN QIR 30 290G 1@ FAA 91 o 68 A7 AMA AIR 629] QHe FEA YAUEH 1P IR PR A9
B 60 (@0 62in 99 2edip ATAN | 99 QA 6916 AT | (626aE) 94, 6069 QNG AT
Qa9 Qa0 699 :

Options :
.2&[_’: $2
1
sea3s18371. (& TP
a5 ¢2

8643518372, 2(@ T B)

4o B
(@ +B)

8643518373.

o B
4 (ax + B)

tZ

8643518374.
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Question Number : 2 Question Id : 8643512792 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A modern grand - prix racing car of mass m is travelling on a flat track in a circular arc of
radius R with a speed v. If the coefficient of static friction between the tyres and the track is
1, then the magnitude of negative lift F; acting downwards on the car is : (Assume forces on

the four tyres are identical and g=acceleration due to gravity)

&

Options :

8643518375.

( I;Iz 1
m| g
s R

8643518376. * i

s
o

m —R ﬂ 1

8643518377, M J

2
i)
mj| g 4 R W
|1
8643518378. \ b4

Question Number : 2 Question Id : 8643512792 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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m Q@gQ QI 6615+ 2RER gI9-9Q 6910 @19 R IS 394 9@ QRIRIA 9IU6a Q@99 66T 60a!
g2 (g6 919) 6 v 6266a 96 QAR | 9% FIAA Ye° gR A6 Fa Ad YIS L D28, 6669
RIQE @aea QLI QIF K9l R8N A, F; 62Q8 :

(§RG2 69 QAT CIUIQ AVER TPYF IRYER AAIR 9e° g=ARIAES #Fe Qa8

T

Options :

m{
8643518375. )

8643518376.

m[
L
8643518377.

IJEW
psR

5

m[g }
8643518378.

Question Number : 3 Question Id : 8643512793 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A Carnot’s engine working between 400 K and 800 K has a work output of 1200 | per cycle.
The amount of heat energy supplied to the engine from the source in each cycle is :

Options :

8643518379. el

8643518380. 1600 ]
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8643518381. ey

8643518382, 1500 ]

Question Number : 3 Question Id : 8643512793 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

400 K 99° 800 K f126Q Q1Y @929l 9@ QIqe, a°Ra, 99 91 (Ae6aa) 1200 ] adaee @1dy
AMITe QRN | g66IR AIRECRRNER SE5G reae 6AICin QULIRIS FITIB TRFIE 629 :
Options :

8643518379, 2400

8643518380, 100U ]

.
8643518381, 200 ]

8643518382. g

Question Number : 4 Question Id : 8643512794 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A solenoid of 1000 turns per metre has a core with relative permeability 500. Insulated
windings of the solenoid carry an electric current of 5 A. The magnetic flux density produced

by the solenoid is : (permeability of free space =4wx10~7 H/m)

Options :
i
8643518383, 10w T
3 _
8643518384, 2 ¥ 107 w T
i
8643518385,

8643518386, " |
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Question Number : 4 Question Id : 8643512794 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fga 9o 1000 6291 89l 9@ AAFIGR 500 ICIFQ SQIOMPE 29l 9@ 6RIQ AR | ANTIPTR
Qe goERINe PIRgel F1:16a 5 A @ GQYE 6910 geILe 62028 | ARe9T QIRl A9k 9ARIY 419
ARG 6988 :

(geue QIQEIeNel =47 x 107 H/m)

Options :
y—-4,

8643518383, 1V T

% =3
8643518384, = < 1077w T

2
8643518385,
8643518386, ™ |

Question Number : 5 Question Id : 8643512795 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A current of 10 A exists in a wire of crosssectional area of 5 mm? with a drift velocity of
2x10" 3 ms~ 1. The number of free electrons in each cubic meter of the wire is

Options :

2 6

8643518387, 2 <107

23
8643518388, 1 <10

: 25
8643518389, 625 %10

25
8643518390, 2 10

Question Number : 5 Question Id : 8643512795 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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oee 08ead (€9, caemder) 2x 1073 ms~! Q@ 6816 5 mm? gEega cAeTR 348 9@ 0I06a

10 A @ GG 6919 9RIe 6228 | FI9Te ge Aefien ZIoRen 9229l 9 RERg,/ il 26g
_ |

Options :

8643518387, 2% 10°

23
8643518388, | <10

I~ 125
8643518389, 022 < 10

V25
8643518390, 2> 10

Question Number : 6 Question Id : 8643512796 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A mass M hangs on a massless rod of length [ which rotates at a constant angular frequency.
The mass M moves with steady speed in a circular path of constant radius. Assume that the
system is in steady circular motion with constant angular velocity w. The angular momentum
of M about point A is L, which lies in the positive z direction and the angular momentum of

M about pnint B is LE. The correct statement for this system ig

I A and LE are both constant in magnitude and direction
8643518391.

864351830, LA 1S constant, both in magnitude and direction
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8643518393, LB is constant, both in magnitude and direction

Ly is constant in direction with varying magnitude
8643518394. #

Question Number : 6 Question Id : 8643512796 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

QgRAMIe | 6944 @9Q 6915 G Y@ 98 M ¢aE I9l ¥a 30 6Alde 2R QYRR | 9g M §
4R FRT QAT 339 6AITN QAIRIA T26a B8 6RE6R GF RQE | UAEY 6, 1@ JeAR 9@ 9
6QlEa 0569666 Ha QAIRIA G060 80 @98 | @9 A 06Q 6@lée A°6e6 L, , 9191 I29Q z G66a
QTaN 9e° B 996 6a16e Q°6e6 M 62a8 Ly | 42 Jaq dipl 90K @EF 26s -

Options :
a@a L, 49° L; @ 8 A9 9e° @4 @8 |
8643518391

2643518392, LA & @8 AIO@ G GO €Q QL |

8643518393, Ly @ @ed 719@ 0 96 9Q Que |

8643518394, Ly @0 €& 949 d9ieaqid qlde Qe |

Question Number : 7 Question Id : 8643512797 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
An AC current is given by I=1, sinwt+ [, coswt. A hot wire ammeter will give a reading :
Options :
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8643518395. V2

8643518396.

8643518397. \,

8643518398. \I

Question Number : 7 Question Id : 8643512797 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QG goueal @46, 6Q19] I=1; sinwt + 1, coswt QR FAIYIAE | €AITY 26 BAR AFCR
Qdlage a0 (Aea) 629 .
Options :

L +1

12
8643518395, V<

I+ 1

8643518396.

8643518397.

8643518398. v

Question Number : 8 Question Id : 8643512798 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A polyatomic ideal gas has 24 vibrational modes. What is the value of v ?

Options :
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8643518399, 10:3

8643518400, 130

8643518401, 1-03

8643518402, 137

Question Number : 8 Question Id : 8643512798 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

66lIEN @2 aaflg @9 2Id SNIGR 24 § QR 67119 v A8 | v @ Ry 660 69 ?
Options :

8643518399, 1U-3

8643518400, 1-30
8643518401, 1-03

8643518402, 1-37

Question Number : 9 Question Id : 8643512799 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
When two soap bubbles of radii a and b (b > a) coalesce, the radius of curvature of common
surface is :

Options :

" ab

b—a

8643518403.

ab
a+b

8643518404.

-b a
ab

8643518405.
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8643518406, AP

Question Number : 9 Question Id : 8643512799 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6069696 a ¥@° b (b > a) AT S99 Qa6 AR T§ 6TIFR URIR A2 AT 69IR Q9F,
FACIGER ARG FRYTQ MIAE 629 :

Options :
ab
8643518403, b~ a

ab
8643518404, @+ D

b—a
8643518405, 4P

a+ b
8643518406, ab

Question Number : 10 Question Id : 8643512800 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A triangular plate is shown. A force F = 4i “’r;r is applied at point P. The torque at point

P with respect to point ‘O’ and ‘Q’ are :

Ya
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Options :

8643518407, — 15 — 2043, 15— 2043

3643518408, 15 + 2043, 15 — 204/3

8643518409, 15 — 2043, 15 + 2043

8643518410, ~ 15 + 203, 15+ 203

Question Number : 10 Question Id : 8643512800 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
i g - H= = —F e a9 o i o i
66lleN] GeRIE1 6YER YHldImZe | 66l @@ F = 4 3; @ P @gea axidiag | P @gee, 'O’ @g

6 'Q @R Gae 294 AR 629 :

Ya

> X
O
le——10 cm—HQ

Options :
s643518407. ~ 15 ~ 203, 15— 2043

15 + 2043, 15 — 203
8643518408.

c643518400, 15 — 2043, 15 + 203

15 + 2043, 15 + 2043
8643518410.
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Question Number : 11 Question Id : 8643512801 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two identical metal wires of thermal conductivities K 1 and K?_ respecfivel}-' are connected in

series. The effective thermal conductivit}-' of the combination is :

Options :

8643518411.

8643518412.

8643518413.

8643518414.

Question Number : 11 Question Id : 8643512801 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

K Ko
K1 + Ky
XKy Ky
Ky + Ky
K; + K,

2K 4 Ko
K, + Ky

K1 Ky

QId1d lwe| Jalger K, 1o K, &l Eﬁt@ Y@lgalte dive gine 6481t eIt @altlnl | @

A°CQIBTR TREIN Q11 FINe0] 699 :

Options :

8643518411.

8643518412.

8643518413.

8643518414.

K K

K, + Ko

2Kq Ko

K, + K

Ky + Ky

2K, Ko

Ky + K,

ki K2
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Question Number : 12 Question Id : 8643512802 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A boy is rolling a 0.5 kg ball on the frictionless floor with the speed of 20 ms 1. The ball gets
deflected by an obstacle on the way. After deflection it moves with 5% of its initial kinetic
energy. What is the speed of the ball now ?

Options :

8643518415, 1.00 ms™ !

rr 1
8643518416, 147 ms

1
8643518417, 1441 ms

1
8643518418, 19-0 ms

Question Number : 12 Question Id : 8643512802 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@68 QPR 0.5 kg @ 9@ Q@G AdeTeIe 90186a 20 ms~! €906 G99 69l | QITER YN
6EITN goem QeI QIIgIY 62IR G940 6ol | 9946 d6a YDl ¥9IR gIefds Jow 93 5% Ae 9F
@Rl | QAR IRFR 696 660 629 ?

Options :

1.00 ms !
8643518415.

rd 1
8643518416, T3/ mMS

14.41 ms™—1
8643518417.

19.0 ms— 1
8643518418.

Question Number : 13 Question Id : 8643512803 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The thickness at the centre of a plano convex lens is 3 mm and the diameter is 6 cmn.  If the

speed of Iig_ht in the material of the lens is 2 x10% ms ~!. The focal Ir_-ngth of the lens is

14/87
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Options :

8643518419, S0 cm

8643518420, 15 cm

8643518421, 12 cm

8643518422, 0-30 cm

Question Number : 13 Question Id : 8643512803 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
6T QerIaR (Qer ARERY) JORITR 6719 3 mm 99° QUId 6 cm 6T | U9 U@l @06
AQIdea 2eAaa 68 2x 108 ms~1 94, 6069 QRIGER 6TIRQ 6Ty 6208 |

(Gacen gdarayca adee aa)

Options :
i
8643518419, ~U ¢m

15 cm
8643518420.

8643518421, 1 cm

8643518422. 0.30 cm

Question Number : 14 Question Id : 8643512804 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which level of the smgle ionized carbon has the same energy as the gmund state energy of

hydrogen atom ?

Options :

8643518423, 1

8643518424, 2

8643518425, ©
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8643518426. B

Question Number : 14 Question Id : 8643512804 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

90Q 2I0E004 62IR2Q RIGRA AR 200 30 UGAId 2RERIERR JRAIge FIRacEs d8 QP
QAR ?

Options :
8643518423, 1

8643518424.

8643518425.

8643518426, B

Question Number : 15 Question Id : 8643512805 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two ideal polyatomic gases at temperatures T, and T, are mixed so that there is no loss of
energy. If F; and F,, m; and m,, n; and n, be the degrees of freedom, masses, number of

molecules of the first and second gas respectively, the temperature of mixture of these two

gases 15 :

Options :

-I'I 1F1 Tl { f'lesz
8643518427, N

.I'I lFlTl { I'IEFETE
8643518428, B +E

-I'I lFl Tl f nEFETZ
8643518429, M1 1+ naky

.I'I 1T1 { I'Isz

I'I]_ | I'IZ

8643518430.
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Question Number : 15 Question Id : 8643512805 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T, 9&° T, SIGAIGIER 291 QaF 2Ied 920adg a9a guqq Aacal cafier &8 98 2aca coal
QP | 9@ gaa 6 §o19 GHIR YRl AIgl, 99Q 9e° 2g Pl A2IR6A F, G Fy, my 6 m, 9e° n,
8 n, 921, 6669 1@ @@ GNIQ FAgan QIAAIGI 26T :

Options :
'anlTl + naFyTh
8643518427 ¢ Rl
n{T + BT,
F, 4
8643518428. )
.I'I]_F]_Tl | I'izeTz
n{F; + n-F
8643518429. e
.I'I 1T1 | I'Isz
I'Il | I'IZ
8643518430.

Question Number : 16 Question Id : 8643512806 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For what value of displacement the kinetic energy and potential energy of a simple harmonic
oscillation become equal ?

Options :
8643518431, Y= T A
8643518432, ¥ =0
xr= =z ,x
]
8643518433, V2
r""L
x —_— s
~
8643518434. -

Question Number : 16 Question Id : 8643512806 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

FUIORQ 699 a4 TIR YR JeR SRR, 950 0e a8 6 96R 98 AAIR 69 ?
Options :
8643518431, *= T A

8643518432, 1=
= s
3
8643518433, V2
f"'L
X = =
8643518434 2

Question Number : 17 Question Id : 8643512807 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The output of the given combination gales represents :

A

B

Options :
8643518435, AND Gate

8643518436, VOR Gate

8643518437, VAND Gate

8643518438, “OR Gate

Question Number : 17 Question Id : 8643512807 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Q8 600gee Aeda fda(aeege) 950 @6a :

Options :

8643518435. FRE RS,

E,
8643518436. NS

NAND 646!
8643518437.

XO
8643518438. AL SES

Question Number : 18 Question Id : 8643512808 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An electron of mass m and a photon have same energy E. The ratio of wavelength of electron
to that of photon is : (c being the velocity of light)

Options :

=)

8643518439.

c (2mE ]'Lé
8643518440.

8643518441, © *

8643518442.

Question Number : 18 Question Id : 8643512808 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
m 4@ gl 9@ alewg, 7 99° 6TITaR Qe 18 E Q@8 | plEhl gy, o6 O6lEr caay 6 eI Yoer
cRaIe 2QAI0 266 : (c 6298 AR 696 )

Options :
. -
(5=
8643518439, *~ 4
: 1/
c (2ZmE)"2
8643518440.
1 { 2m ‘|1'5
8643518441, © L/
L (E 5
[ \EH'U

8643518442.

Question Number : 19 Question Id : 8643512809 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The vernier scale used for measurement has a positive zero error of 0.2 mm. If while taking
a measurement it was noted that ‘0" on the vernier scale lies between 8.5 cm and 8.6 cm,
vernier coincidence is 6, then the correct value of measurement is Cm.

(least count=0.01 cm)
Options :

8643518443, 508 cm

8643518444, 506 cm

8643518445, 504 cm

8643518446, 5-36 cm

Question Number : 19 Question Id : 8643512809 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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AIICIN NP 62 66169 RARAR 629 0.2 mm | IR YBINR e 9F @88 | 9@ A

699 AFINER 6THIGRI 64, RAGHR 6ARA ‘0 8.5 cm 99° 8.6 cm F16R Q@RI 9Q° SRFD6, 67199
(S0F90 @9566]) 6 U6T, 606 AT AWK AN 62RE ~ cm |

(g9e¢ aId=0.01 cm)

Options :

8643518443, O-2° €M

8643518444, 8.96 cm

8643518445, 8.54 cm

e
8643518446, 8.36 cm

Question Number : 20 Question Id : 8643512810 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If an electron is moving in the nth orbit of the hydrogen atom, then its velocity (v,,) for the nth

orbit is given as:

Options :
o o
8643518447. ™

U, xn
8643518448, "

" 1
L

Un

8643518449. L]

Up & —

8643518450.

Question Number : 20 Question Id : 8643512810 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A3 9@ RERY.R RALIP JOMIER n 67 RWER GF FRE, 6969 n o7 AU IR 921N 696 (v,)
QARG -
Options :
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2
8643518447, m "
0. o n
8643518448. "
1
U =
n-
8643518449.
1
Up @ —
n
8643518450.
Physics Section B
Section Id : 864351188
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351188
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8643512811 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For VHF signal broadcasting, km? of maximum service area will be covered by
an antenna tower of height 30 m, if the receiving antenna is placed at ground. Let radius of
the earth be 6400 km. (Round off to the Nearest Integer) (Take w as 3.14)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643512811 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Q@ A°6@6 G924 Q2R 26dq BF QAR AN, 6062 30 m @WLSI AF QI 2ERI TG
VHF Q°6@0 99I0d die 9IS 6291 edas 28@ 629 km?| (Feeeq gdaceuiea)

49 G2R1Q QIS 6400 km | (w=3.14 {2)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643512812 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If 2.5 x 10 ~® N average force is exerted by a light wave on a non - reflecting surface of 30 cm?
area during 40 minutes of time span, the energy flux of light just before it falls on the surface

is W/cm? (Round off to the Nearest Integer)
Assume complete absorption and normal incidence conditions are there
P rp

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643512812 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

AQ@ 66189 30 cm? €EQUR 949 AYETRR 98eq 40 AGC G dRAUQl 9@ ZERIR o
25x107°N @ 20916 9@ G698 R6Q, 6062 2eAGE Je6a O] UFe 99q I2Ia 98 2T
(ge) mee W/em?I (39669 g4a°aviea)

(u8F2 6Q0I6a ZiEAPR A°gd 6AIBE I9° NANG 2ITes §0 98)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

23/87
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Question Number : 23 Question Id : 8643512813 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Four identical rectangular plates with length, I=2 cm and breadth, b= — cm are arranged

k3| 3

o] : _ - o - i
as shown in figure. The equivalent capacitance between A and C is Tﬂ The value of x is

(Round off to the Nearest Integer)

d d d

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643512813 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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F96a QEIANAR AYAIER 634, 1=2 cm 9e° g8, b= = cm @99 Q6T IR AR

3
1

69egeq ARIQAT | A 9e° C F2I6R AR 289! %” 2l6e |

ragaueese | (Gecen gdacaea)

d d d

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643512814 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The equivalent resistance of series combination of two resistors is‘s’. When they are connected
in parallel, the equivalent resistance is ‘p’. If s=np, then the minimum value for n is
(Round off to the Nearest Integer)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 24 Question Id : 8643512814 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

6614166 A°YB AT YECARIGR AAGRY FEEaIM ‘s’ UET | CUEOERER 6ARIRE AAIZR QITER A°YR
RAIGRI, AAGRY F6RIN ‘p’ 6291 | 9@ s=np, n Q@ AP RN 629 |
(Pacen gda-auisa)
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643512815 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A parallel plate capacitor whose capacitance C is 14 pF is charged by a battery to a potential
difference V=12 V between its plates. The charging battery is now disconnected and a
porcelin plate with k=7 is inserted between the plates, then the plate would oscillate back

and forth between the plates with a constant mechanical energy of pl.

(Assume no friction)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :
100

Question Number : 25 Question Id : 8643512815 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

14 pF 266 @44 9@ AAIPe 6gF. :IREq 66T QYIEeal QIR Y218 64F FeR Ine aleiay
V=12V @ QIF¢ aadal | Qa7 9IF fqael MIECRIq 57 FATRIgRI 99° JRI6aeIw k=7
el GNP (6a193Ra) 649eq UGSl 646 90 F16R 6 QAITRI, IT6R @8 696T 1R 30 AIEe
g8  p] 92 64¢ Q@IF F:6Q 2i6q J8] 62IR CQRIAAIQ ol |

(adagie calh uada)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 26 Question Id : 8643512816 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

26/87



3/17/2021
The radius in kilometer to which the present radius of earth (R =6400 km) to be compressed

so that the escape velocity is increased 10 times is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643512816 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AQIAe 95696] 10 g8 9F @9l AR QEAIR JAKR NS (R=6400 km) @ ERAFF &8
km @QIdQl 2IQaye |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643512817 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The angular spc-c-d of truck wheel is increased from 900 rpm to 2460 rpm in 26 seconds. The

number of revolutions h}-‘ the truck engine durf_ng this time is

(Assuming the acceleration to be uniform).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643512817 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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69lIEN @ 900 6RIEe 696 26 6A6REER 900 rpm § 2460 rpm § Q@EERI | 9P QAL F12I6Q §@, O
QIQl afd conael OReNae Qe e |

RQEG AT 691R AR

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643512818 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider two identical springs each of spring constant k and I'm-gligible mass cnmpared to

the mass M as shown. Fig. 1 shows one of them and Fig. 2 shows their series combination.
. . ; .

The ratios of time period of oscillation of the two SHM is TE;’-“T- = Jx, where value of x is

/ o

(Round off to the Nearest Integer)

Ll LRSS LR kY

0000C
00000

Fig 1

Fig 2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 28 Question Id : 8643512818 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

QAR ARACR M 920 9RFI6R 28 Fad1 92Q 99° e JAIF k AQ 9af wRIedul Jaq
A010Q @2 | §9 1 6QAIRE FRIG 69I0Q QHIed 1e° T 2 FATINER 644160 A°6ITq 62T |

2e6 d0e 2R6AIFR 6219w (SHM) @ 2I96aie 96 Agde 628 Tl;

¢’ L)
”fr = Jx , 64K0IEQ x @
d

aeu 268 | (Geceq gderaica)

TR EIS IS ARSI T IR

= =
= =
Ta Th
=
Fig 1
Fig 2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643512819 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The following bodies,

(1) aring
(2) adisc
(3) asolid cylinder

(4) asolid sphere,

of same mass ‘m’ and radius ‘R’ are allowed to roll down without slippf_ng simultanenusl}-'

from the top of the inclined plane. The body which will reach first at the bottom of the
inclined plane is

[Mark the body as per their respective numbering given in the question]

0 N

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643512819 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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AAIe 99 ‘M’ 99° NIQAIF ‘R’ A FFYe 9999,
(1) 695 e
(2) 6elIE &9
)

a2

(3) 6QIEY P9 4
(4) 69159 29l cRlae

IR AAGER 60IEN NP a9 d1dg Fed 6F6E deaR GueRl | FYeasa gaen deEae @gf
?I6g 1

(99069 9969 @8 6ARea JoolT Al T212)

ﬂ R

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643512820 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Two blocks (m=0.5 kg and M=4.5 kg) are arranged on a horizontal frictionless table as

shown in [ igure. The coefficient of static [ricion between the two blocks is F Then the

maximum horizontal force that can be applied on the la:ger block so that the blocks move

together is N. (Round off to the Nearest Integer) [Take g as 9.8 ms 2]
m
F
M —»

LSS
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Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 30 Question Id : 8643512820 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
@dlﬂlﬁt&lﬁ*l daden 66lIGN Bl adagis 66'a'h] WU6R @ﬁt@ @& (m=0.5 kg 99° M=4.5 kg)

— — — « "5 — — o
o dRIdIRE | Qo' @@ F1iee 96 Wdd dGla - 260 | @F Yalt'a 9ald®6sl dodln @elintal ikt
!

Q289 9R QU6 JRKIRUIRAR AT §IANRA 9@ 26T

(g=9.8 ms 2 Qo) (Geeeq gdasanica)

]

M

F
—>

T TN e T

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Chemistry Section A

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :

Sub-Section Number :
Sub-Section Id :

864351189
3

Online
Mandatory
20

20

80

Yes

1
864351189

NI
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Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643512821 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A central atom in a molecule has two lone pairs of electrons and forms three single bonds.
The shape of this molecule is :

Options :

planar triangular

8643518461.

8643518462, | -shaped

8643518463, SCCTSAW

2643518464, Tigonal pyramidal

Question Number : 31 Question Id : 8643512821 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
4@ 2660 29 QYIS JRrIER 9 ERIG 6LIF FERE.A U8R Ye° 08 YRIR1 @F G107 @eE | a9
2ga QPP 62aT :

Options :

8643518461, Ao i[RI
8643518462, | 0/
8643518463, 2@

8643518464, S @ECIRIN TAITGIR

Question Number : 32 Question Id : 8643512822 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A colloidal system consisting of a gas dispersed in a solid is called a/an :
Options :

8643518465, acrosol
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8643518466, Sclidsol

8643518467, 0am

8643518468, 8

Question Number : 32 Question Id : 8643512822 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options :
8643518465, ~Gell€n

8643518466, e €8l

e
8643518467. ki

8643518468, o

Question Number : 33 Question Id : 8643512823 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The absolute value of the electron gain enthalpy of halogens satisfies :
Options :

8643518469, F > C1>Br > 1

8643518470, 1> F >Br>1

8643518471, 1> Br>F>1

8643518472, 1> Br>Cl>F

Question Number : 33 Question Id : 8643512823 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
LIERIERAY ‘S@G‘Q RIEmE,q, gid QQG U daf (a4 94ed Keae QREE :
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Options :

8643518469, I > C1> Br>1

864351847

8643518471.

8643518472.

Question Number : 34 Question Id : 8643512824 Question Type : MCQ Option Shuffling : Yes Is

o C1>F>Br>1
(1>Be>F>1

[>Br>Cl>F

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The point of intersection and sudden increase in the slope, in the diagram given below,

respectively, indicates :

(0]
o lm L=
‘!Cu + 03 — 'ZC"JED
200
~ o¥e0,
M -300 = JIFG'YD . C-I-D_,—!DD,
E 400
'f. A']’Eog 20 )
g =hix -ll:.':} * ‘}I-ﬂD - 2Cn
—

g 600 gn* >
9 700 "

—SDEI I o llfﬁP}":‘og .

O
‘Bm I &IE’.H‘ i
- ?ﬂ"igo
g lm} - ‘zﬂ P D]
1100~
1200—
: L | I I 1 I | | |
0=*C 400°C sS00 1200°C 1600°C 20000
273K 673K 1073 K 1473 K 1873 K 2273K
—— Temperature
Options :
8643518473 AG < 0 and decomposition of the metal oxide

8643518474.

AG >0 and decomposition of the metal oxide
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8643518475, AG =0 and melting or boiling point of the metal oxide

8643518476 AG =0 and reduction of the metal oxide

Question Number : 34 Question Id : 8643512824 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QOTE6R 629RQ 99 6g)dR 20I6 9F KaIQ6R 9F% /98 7

0
_lm_
4Cu+03.—} ECuED
200
~ a¥eC.
;. THOH = 1‘5‘6*0 C+0, =00,
e ™
f Q A-I.C-DQ 2C ,
™ > > 200
% B g1+ O
8 _700F A
T —801:}— 'lllﬁP;qoa -
s
800~ a3t
A‘ﬂ"iﬂo
_lﬂm_ -1“4.03
1100F
-1200H
: L I | 1 1 1 | | \
aeC 400°C 800°C 1200°C 1600°C 2000°C
273K 673K 1073 K 1473 K 1873 K 2273 K
— Temperature
Options :
8643518473, AG <0 4Q° dIg 2QIR6Q QAER
. ’ N
8643518474, AG > 0 16" 2ig 2RIREQ FUST
L = g " A =
3643518475, AGE=0 ¥E° HIg AFINEA FOAT G YOS
— o N =
8643518476, 2G=0 =" dig FGER IS

Question Number : 35 Question Id : 8643512825 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The INCORRECT statement(s) about heavy water is (are)
(A) wused as a moderator in nuclear reactor

(B) obtained as a by-product in fertilizer industry

(C) wused for the study of reaction mechanism

(D) has a higher dielectric constant than water

Choose the correct answer from the options given below :
Options :
8643518477, (&) Oy

8643518478, (B) only

8643518479, () only

2643518450, (D) and (D) only

Question Number : 35 Question Id : 8643512825 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

REee Gad6e 9N e3(gew) c2a8 -

(A) QURLe G9gR6a LR RIEY MILe 29

(B) QRdgea RUwe Q94 g6a f@arg

(C) 9FRaR 6ARIGRN 2U0e A6 Qe IQee a9

(D) @8 906 GRERYEIT P06 ARSI 0Ig R |
QORge 9ae Aig A0 eeed QIg -

Options :

C iy
8643518477 (©) 6898

8643518478, (B) 699@

8643518479, (D) 689%

8643518480, (B) 99 (D) 6@aw

Question Number : 36 Question Id : 8643512826 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct order of conductivity of ions in water is :
Options :
8643518481, €87 > RbT >K* >Na®

a b ] o+
g64351843>. Na* >K* >Rb* > GCs

b -t —~_ 3
8643518483, &~ > Na® >Cs™ >Rb

8643518484, Rb* > Na* >K* > Li*

Question Number : 36 Question Id : 8643512826 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
RO JOQI@eIe A0 GFF 6998 :
Options :

3643518481, €3 > Rb* > K" >Na'

P b ! ;
g643518482. Na® > K" >Rb" > s

3643518483 K' >Na' >Cs* >Rb*

b at b + o
8643518484, Rb™ >Na® >K" >Li

Question Number : 37 Question Id : 8643512827 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following compound CANNOT act as a Lewis base ?
Options :

8643518485, 13

8643518486. e

8643518487. Al
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S 1
8643518488,

Question Number : 37 Question Id : 8643512827 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FORYe 6R% 6096 REq A0 98 FIdY F6Q FIE ?
Options :

8643518485. CIF,

8643518486. PCl;

8643518487. NF;

8643518488. oF,

Question Number : 38 Question Id : 8643512828 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the spin-only magnetic moment value (BM) of a divalent metal ion with atomic
number 25, in it's aqueous solution ?

Options :

8643518489. 5.0

o
8643518490, 220

2
8643518491. o

8643518492, ZET0

Question Number : 38 Question Id : 8643512828 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AIQFIEae Q°¢yl 25 29| AEUIFe MEQ Lea T8 (e QAL 2 Elﬂ@ fmY 9916 @@1d
QREER 6REE 7

Options :
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8643518489. 5.0

8643518490, 220

8643518491, 292

8643518492, S

Question Number : 39 Question Id : 8643512829 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  Potassium permanganate on heating at 573 K forms potassium manganate.

Statement 11 : Both potassium permanganate and potassium manganate are tetrahedral
and paramagnetic in nature.

In the light of the above statements, choose the most appropriate answer from the options

given below :

Options :

8643518493, Doth statement I and statement Il are false

3643518494, Both statement I and statement 1l are true

8643518495 Statement 1 is true but statement 1l is false

8643518496 Statement 1 is false bul statement 11 is true

Question Number : 39 Question Id : 8643512829 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

QF6R 9aF @8 QUIRT -

a8 1 : 573 K @aI068 ae1@a¢ gadIgleesq saf @em ae1das AINEns s10e @4 |

Q8 Il : 991806 9eAIsERs 9e° Je1das FIGHERE. AR 658162816, 19° 2QQAald dabs
RUERIS Q@ AQAIER, FARGe FQa g AQIN@ ROYe Le9d 919 :

Options :

8643518493 W 1 99° @@ 11 Qud 12l
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2643518494, @@ 1499° @@ 1I aa- 964

2643518495, @@ 1 Q61 @g @a 11 fi2N

8643518496, @@ 1 ¥12l @7 @e I 96!

Question Number : 40 Question Id : 8643512830 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Reducing smog is a mixture of :
Options :

8643518497, Smoke, fng and *D3

Smoke, fog and SO,
8643518498. o

Smoke, fog and I‘\L,.\D3
8643518499. <

Smoke, fog and CH,=CH - CHO
8643518500. =

Question Number : 40 Question Id : 8643512830 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A8 6416 99 Fgé Tee :
Options :

8643518497, 7 Tag T M3

w. e G°
8643518498, S 9% & SO,

E:‘L l;‘u:.:-l r.;;-,::-
3643518499, A0 EE 9&° N,O5

4
0
ta
e
T
5

8643518500.

Question Number : 41 Question Id : 8643512831 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements :
Statement 1 :  Retardation factor (R) can be measured in meter/centimeter.
Statement 11 : Rf value of a compound remains constant in all solvents.

Choose the most appropriate answer from the options given below :
Options :

643518501 Both statement | and statement 1l are true

Both statement | and statement Il are false
8643518502.

8643518503 Statement [ is true but statement 11 is false

3643518504 Statement 1 is false but statement 11 is true

Question Number : 41 Question Id : 8643512831 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

QF6q Qa0 BF YAILIGE :

Qs 1: reeene foe/caddicasa aaiarg | (R)
Q@ I1: 9@ 6dides R, i 99 eleacn Ja a@ad |
QeORge Qe (g QLG Ege eRed Qg -

Options :

8643518501, @@ 1 99° @@ 11 80 A6V

2643518502, @@ 199" @@ 11 aue c1a

8643518503, 2@ 1 964 @g @9 11 a2

2643518504, @@ 1 €12 @9 @@ I 96\

Question Number : 42 Question Id : 8643512832 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is an aromatic compound ?

Options :
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8643518505. :>
8643518506. :>®
8643518507. @
8643518508. ©

Question Number : 42 Question Id : 8643512832 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
8¢ eI 60a8 26N 6AIFe 2168 ?
Options :

8643518505.

JU

8643518506.
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8643518507.

8643518508. “—

Question Number : 43 Question Id : 8643512833 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HISr

I PR

(Major Product)

Product “A"” in the above chemical reaction is :

Options :

Br
CH,
8643518509. :
iz CH,
8643518510, CHy
Br
CH,
8643518511. H,
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8643518512. CHj

Question Number : 43 Question Id : 8643512833 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

_— > A
(Major Product)

ACERIT QIAIGRE JORNIca adla “A” cea8 :
Options :

Br
8643518509.

8643518510, Zl
Br
CH;
8643518511, CH,
Br
Cj\ﬁ Iy
8643518512 CH,

Question Number : 44 Question Id : 8643512834 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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+ NaOH

Y

The above reaction requires which of the following reaction conditions ?
Options :

-
2643518513, 023 K, Cu, 300 atm

2643518514, 2/ 2 K, Cu, 300 atm

- "
8643518515, 023 K, 300 atm

8643518516, 272 K 300 atm

Question Number : 44 Question Id : 8643512834 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
l O " Na™

+ MNaOH

Y

RU6RI JERMI6R FARNE AL 95 A8 2INEIR cRRaN ?
Options :
2643518513, 022 K, Cu, 300 atm

2643518514, /3 K, Cu, 300 atm

8643518515, 023 K, 300 atm

8643518516, 272 K, 300 atm

Question Number : 45 Question Id : 8643512835 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Mesityl oxide is a common name of :

Options :
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: r - i I
8643518517. 4-Methyl pent-3-en-2-one

AT e A
8643518518, 2-A-Dimethyl pentan-3-one

8643518519, 2-Methyl cyclohexanone

643518520 3-Methyl cyclohexane carbaldehyde

Question Number : 45 Question Id : 8643512835 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FORge Fug 1210 ARG FIF 6AETE, B19IRE. ?
Options :
8643518517, oo SONSRIRE-0F,

| A T T 4 ~_ (1
8643518518, 2 TOIRFAIRR CAUR3-04

-02IeR AIRERYERFIERIR
8643518519, 2 FlElieim QIGEREIRIERIR,

8643518520. 3-clelicla dIgeq)eReyn @IQIRERIeEe

Question Number : 46 Question Id : 8643512836 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Hoffmann bromomide degradation of benzamide gives product A, which upon heating with

CHCl,; and NaOH gives product B.

The structures of A and B are :

Options :
Q o)
NH, NH,

CHO

8643518521. Br Br
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NH, NC

A — B —
8643518522,
NH, NH,
P % _ CHO
8643518523 Br Br
NH, NH,
B 5 CHO
8643518524,

Question Number : 46 Question Id : 8643512836 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ERHCIRER TR QARG 2A9FAE Il AQIQ A 69a2d A19ig CHC, 9e* NaOH Q2 g6
@6R Q99 B @9 1 A 99° B @ @096l K2IQ6F c2ea :

Options :
O 0
NH, NH,
CHO
Ay B =
8643518521, Br Br
NH, NC

A = B =

8643518522.
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NH, NH,
CHO

8643518523, Br Br

NH, NH,
CHO

8643518524.

Question Number : 47 Question Id : 8643512837 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
O O

Eth}rlene GI}F:: ol R

(JICEHS »~ A
HY (Major Product)
The product “A” in the above reaction is :
Options :
OH

P

O O

OCaHs5

O
OH

N

8643518525.

8643518526.

/ OCoHsg

OH

8643518527.
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Q
DM
DCEI I5

8643518528.

Question Number : 47 Question Id : 8643512837 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
O O
i Ethylene Glycol
(‘](“'ZHS - T - T M
H (Major Product)

QUERIE gORAIEa Qe “A” 6998 :

Options :
O 0O
OH
8643518525. OCoHj
O
O O
8643518526. OH

R

A OC5H5

8643518527, OH

0
D><3J\
OCoH5

8643518528.

Question Number : 48 Question Id : 8643512838 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following reaction is an example of ammonolysis ?
Options :

C

2643518500, e +CHNH, —, CHCONHCH;

8643518530, CeHsCH,CN L, CiH,CH,CH,NH,

sazsigsy CoHsCHClH NHy —— CH:CH,NH,

Question Number : 48 Question Id : 8643512838 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

QORUe goR NG 6068 2ICAIERIRTAR 19 QAR ?
Options :

CHCOCl+C,H:NH, — » C.H-CONHCH
8643518529. © 2 L sk o] A

CH.CH,CN _MHl . C H.CH,CH,NH
8643518530. © 57 2 R s T e el etk

8643518531, CeiisCHCLH NH —— CgHCH,NH,

CH.NH, HO _ CH. NH:CI
8643518532, 6 52— “6 5 3

Question Number : 49 Question Id : 8643512839 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

With respect to drug-enzyme interaction, identify the wrong statement.
Options :

2643518533, Competitive inhibitor binds to the enzyme’s active site

8643518534, Allosteric inhibitor changes the enzyme’s active site
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643518535, Allosteric inhibitor competes with the enzyme's active site

8643518536, Non-Competitive inhibitor binds to the allosteric site

Question Number : 49 Question Id : 8643512839 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

QO-IARIRN CI0Ate goGal A6, A @AFTq 5212 -
Options :
8643518533, HO6QISN FEQRIA IRFIRNR A0 A9y QR AES |

8643518534, JERIERAR FEQIUR IRFIRAR QL Qe SRR &4 |

8643518535 JERICRAR FERING YPRIRAR G dIF A2 gF6aIdel Q6a |

16-98 6Ll (alala] d6OIEEG !I. | & r
8643518536. ZE-He6kIel WeRlidE J6nI6ARE tiga 21F K166! |

Question Number : 50 Question Id : 8643512840 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the f Dllnwing is correct structure of tyrosine ?

Options :
COOH
H>N H OH
8643518537.
COOH
H>N 5|
OH
8643518538.
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COOH

H,N H
OH
8643518539.

COOH

H,N H
OH
8643518540,

Question Number : 50 Question Id : 8643512840 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
GRS MG 6RE SIRcRIdna A0a A°R0R| 266 ?

Options :
COOH
H,N 4% OH
8643518537.
COOH
H,N H
OH
8643518538.
COOH
H,N H
OH
8643518539.
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COOH
HyN H
OH
8643518540.
Chemistry Section B
Section Id : 864351190
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351190
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643512841 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The mole fraction of a solute in a 100 molal aqueous solutionis »10~=.
(Round off to the Nearest Integer).
[Given : Atomic masses : H: 1.0 u, O : 16.0 u]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 51 Question Id : 8643512841 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
100 661IRlG @@1d QREER Qe 6¢liR gI9e x 1072 26¢
(Gecen gdasenicn aaa)
[@8 : 90AEee @99 : H:1.0u, O:16.0 u]
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 52 Question Id : 8643512842 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The pressure exerted by a non-reactive gaseous mixture of 6.4 g of methane and 8.8 g of
carbon dioxide in a 10 L vessel at 27°C is ~ kPa.

(Round off to the Nearest Integer).
1

[Assume gases are ideal, R=8.314 | mol 1K
Atomic masses : C: 120 u, H: 1.0 u, O: 16.0 u]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 52 Question Id : 8643512842 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

10 L 91g6a 27°C QI9AIgIea 6.4 g 62w, 99° 8.8 g R199%, QIod9ines ageqadaa fgd Qe
Qg% <Id kPa 2leg

(PReen gdaseiicn aade aa)

[ g 9@ 2Ied a4Iq AIeYel @2 | R=8.314 T mol~ 1K1 a9a8da @2 C: 12.0u, H: 1.0 u,
O:16.0 u |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 53 Question Id : 8643512843 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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A certain orbital has n=4 and m; = 3. The number of radial nodes in this orbital is

. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643512843 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@ 508 2OPCINER n=4 99" m; =3 &

QA9 ZOLCINe CORAIRNERIEY A°6

L=}

(Gecen gdasaiica atde aa)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 54 Question Id : 8643512844 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

I and

The standard enthalpies of formation of Al,O, and CaO are —1675 k] mol
635 k] mol ! respectively.

For the reaction

3Ca0 + 2A1 — 3Ca + Al,O; the standard reaction enthalpy A H'=__

(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643512844 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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AL, e CaO 6089 AIeQ geela €eleea —1675 kJ mol ~! 4@® —635 k] mol ~1 |
ga@@l 3Ca0 +2Al — 3Ca+ AlLO; @ fiea goaal qdela A H= K] |
(Geeen gdacwuiea afde 2a)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643512845 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
The oxygen dissolved in water exerts a partial pressure of 20 kPa in the vapour above water.
The molar solubility of oxygen in water is %1072 mol dm 2.
(Round off to the Nearest Integer).
[Given: Henry’'s law constant = K;;=8.0 x10* kPa for O,.
Density of water with dissolved oxygen = 1.0 kg dm 7]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 55 Question Id : 8643512845 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

PRE0 QEEE 23687, 20 kPa 2@ 919 @ RU6 QUEEE JeRIS K68 | 2GR0 FR1Y CAIRIS
QRE1AG! %x107° mol dm ™3 |

(Gecen gdareuica afde @)

[ 9@ : 62688 a6 g9aIs = K;=8.0x10" kPa 21§65 dipl A6 2F6RR 990 B9 AL =
1.0 kg dm~3 |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 56 Question Id : 8643512846 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
0.01 moles of a weak acid HA (K, =2.0 x10"°) is dissolved in 1.0 L of 0.1 M HCI solution.
The degree of dissociation of HA is %10~ (Round off to the Nearest Integer).
[Neglect volume change on adding HA.
Assume degree of dissociation <<1]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 56 Question Id : 8643512846 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0.01 67128 @ Qe@ 2¢ HA (K,=2.0x1076) 1.0 L of 0.1 M HCl 29668 9996 621023 |
HA @ 24 9291204 g 6 [
(Paceq gdadiica afde aq)
[ HA fgaqial 21969 d99eeq 246ad @0, 24 92e1aa4d a1gl <<1 41di@ |
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 57 Question Id : 8643512847 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

15 mL of aqueous solution of Fe?* in acidic medium completely reacted with 20 mL of
0.03 M aqueous C rED;T_. The molarity of the Fe?* solution is %10 "2 M. (Round

off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 57 Question Id : 8643512847 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Felt @ 15 mL @@18 @48 ¢ A6a76a 20 mL 0.03 M @18 CJ'ED%_ Qed Qe gade
c2IRalg | Fe2t 994Q 6RIRIOE 62ed x1072 M

(Pacea gdasica afde aq)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
100

Question Number : 58 Question Id : 8643512848 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For a certain first order reaction 32% of the reactant is left after 570 s. The rate constant of
this reaction is %1073 s~1. (Round off to the Nearest Integer).
[Given : log;32=0.301, In10=2.303]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643512848 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
9e A QF dERdien 570 s 6969€ A U6a 32% JERIOe goRdl @b QG | ag gogaR
QoaRdl 916 fals coad x10-3s-1 | (Faeen gadareiica 98de @9)
[@& : logyp2=10.301, In10=2.303]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :
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100

Question Number : 59 Question Id : 8643512849 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The reaction of white phosphorus on boiling with alkali in inert atmosphere resulted in the
formation of product “A’. The reaction of 1 mol of ‘A" with excess of ABNDS in aqueous

medium gives mol(s) of Ag. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643512849 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@ IQIedy 96 99 Hd0 JO6SH6a IR gl ‘A’ S0 @R | aR1e AFHfee AoHNG
AgNO, 986 1 mol A g6&EQ Q6 6AIR Ag Qg
(FRcef gdaraiien 9ade aa)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643512850 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

NO,

HNO,
H,S0,

il

In the above reaction, 3.9 g of benzene on nitration gives 4.92 g of nitrobenzene. The
percentage yield of nitrobenzene in the above reaction is %. (Round off to the
Nearest Integer).

(Given atomic mass : C:12.0u, H: 1.0 u, O: 16.0 u, N : 14.0 u)

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :
100

Question Number : 60 Question Id : 8643512850 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

NO,

HNO,
H,50,

RUERI8 ERIEE, 3.9 gIF 69&HR AIREEAR 910l 4.92 g QIRESICRER QYR KE6R, AU6RI8 gORKIER
FIRETIEXEAE G005 AP 6T %
(Pacea gdasiica dfde aq)
(@@ : 971689 92 C: 120 u, H: 104, O : 16.0u, N : 14.0 u)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Mathematics Section A
Section Id : 864351191
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351191
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 8643512851 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
In a school, there are three types of games to be played. Some of the students play two types

of games, but none play all the three games. Which Venn diagrams can justify the above
statement ?

P Q R
Options :

8643518551, L and Q

8643518552, L and R

8643518553, 2 and R

8643518554, TVone of these

Question Number : 61 Question Id : 8643512851 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

605N YRER BRYRINR 63iR RN | 6R66R 2IQ QRN 651 66108, @2 cxlad gIg PREaITAIR
U 64RE GI@ | 6RW 6RQ §9T RUAIs RE0q Qald AgF ?

P Q R
Options :

8643518551. PR
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8643518552.

8643518553, 2 9" R

8643518554.

Question Number : 62 Question Id : 8643512852 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The area of the triangle with vertices A(z), B(iz) and C(z +iz) is :

Options :

8643518555.

8643518556.

8643518557.

8643518558.

Question Number : 62 Question Id : 8643512852 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A(z), B(iz) 99° C(z +iz) S1ERRQ A9 YRR 6RLTR 26T :

Options :

8643518555.

8643518556.

8643518557.

P9e® R

@l (21 6RWE g69

L4
2

N | -

M| =

—

2
2

|~.}|»—='

b =

63/87



3/17/2021

8643518558, 1

Question Number : 63 Question Id : 8643512853 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. 0 sine | ' o 1
If A= . and det | A —I | =0, then a possible value of « is :
| Sinao 0y | 2 )

Options :

e |

8643518559.

'__,_}l-_'l

8643518560.

NE

8643518561.

S1ER

8643518562.

Question Number : 63 Question Id : 8643512853 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

5 (0 sina ' o =
ae A= . | 9Q° det | A — —I | = 0 99, 6069 a & & QLI ¢Jal 26T :
| SN ) X 2 )
Options :
T
4
8643518559.

'..-J|=l'

8643518560.

-NER

8643518561.

STER

8643518562.
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Question Number : 64 Question Id : 8643512854 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The system of equations kx+y+z=1, x +ky+z=k and x +y zk=k?2 has no solution if k is
equal to :

Options :

8643518563.
8643518564.

8643518565.

8643518566.

Question Number : 64 Question Id : 8643512854 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

kx+y+z=1,x+ky+z=k 9@° x+y+zk=k? 4@ aMead (272) @ 6xlad AARIe @IF A& k
Q Fay AR

Options :

8643518563, U

8643518564, 1

8643518565,

2
8643518566. Z

Question Number : 65 Question Id : 8643512855 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Team “A’ consists of 7 boys and n girls and Team ‘B’ has 4 boys and 6 girls. If a total of 52
single matches can be arranged between these two teams when a boy plays against a boy
and a girl plays against a girl, then n is equal to :

Options :
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I3

8643518567.
8643518568.
8643518569.

8643518570.

Question Number : 65 Question Id : 8643512855 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Fe (9@) ‘A’ 60 7 @4 Q9@ 99° n @8 Q@I 9e° §F (9@) ‘B’ 63 4 @4 Qee 99° 6 @d QR
292 | 9T 9P 9@ 9F FRIGR 6RAITER 52 6alIE 6o (YE6AITR!) @ AP VRN CUEOEIER
6915 QI9@ (g2) ZIe 6915 QIR (92) 6 69159 QIRaI ZIR 69159 QPRI FQE6R 64RER, 6069
n | e AN

Options :

8643518567.

8643518568.

8643518569.

8643518570.

Question Number : 66 Question Id : 8643512856 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the fourth term in the expansion of (x 4 xlog Y7 is 4480, then the value of x where x € N is
equal to :
Options :

8643518571, 1

8643518572. i

8643518573, °
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8643518574. e

Question Number : 66 Question Id : 8643512856 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(x+xP82 Y @ gard (T219) 6a 98 ogd aaf 4480 @4, (69w0 x ¢ N) 6062 x @ fay AAIF
: [

Options :

8643518571.

-2

8643518572.
8643518573.

8643518574.

Question Number : 67 Question Id : 8643512857 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of 4 4 is :
1
54 q
4 4 1
5 4
44 ... .
Options :
' o)
2 30
8643518575, 5
2+ 230
8643518576. V5
5+ 2./30
8643518577. 5
4 4 %Jﬁ
8643518578. k.
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Question Number : 67 Question Id : 8643512857 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
4 4 7 Q aau(aIR) 26e :
5 4 1
4 4 :
5 4
44+ ... .
Options :
2
y JE N )
8643518575.
. 2 .
8643518576. 5
: )
5+ =430
8643518577 >
_ e
4+ —f3
J5
8643518578

Question Number : 68 Question Id : 8643512858 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If cot~1{a)=cot= 12+ cot =18 +cot ~118 + cot—132 + ..... upto 100 terms, then « is :
Options :

8643518579, 1-00

8643518580, 1-01

8643518581, 1-02

8643518582, 1-03

Question Number : 68 Question Id : 8643512858 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

@@ cot~l(a)=cot =12+ cot~ 18+ cot "118 + cot ~132 + ..... 100 8¢ 99 AdyYe, 6069 a Z6E :

Options :

8643518579. L

8643518580, 101

2
8643518581. 1.02

8643518582, 1-03

Question Number : 69 Question Id : 8643512859 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The inverse of y=>5'8" is :

Options :

' 1
s logy
8643518583, 0
st
L o JOg
8643518584, ~ Y
x=5logy
8643518585,
r= Llr]t:«ii_;S
8643518586,

Question Number : 69 Question Id : 8643512859 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
y=>5'8* @ gieaIa (BREI TLR) 266 :
Options :

x=5°%
8643518583,
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¥ og5

8643518584,
x = 5logy

8643518585.
logh

8643518586. * = V¥

Question Number : 70 Question Id : 8643512860 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

lim cos”x — [x]?) - sin™!(x — [x]?)
.
x—0 x — x3

The wvalue of , where [x] denotes the greatest

intoger =X 18

Options :
av
4
8643518587.
8643518588, U
. i1
;
8643518589, <
8643518590,

Question Number : 70 Question Id : 8643512860 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. cos T (x [,1']2] - sin” ' x [x]z]

i +
x—0 x }_.3

, (6220168 [x] @ 28 QYR gda al= x) @ g

Zee :
Options :

NE

8643518587.
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0
8643518588.

Ml'—].

8643518589.

8643518590.

Question Number : 71 Question Id : 8643512861 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is incorrect for the function g(«) for a € R such that

_ 3 sin®x 4
B(e) = 1£ cos®x + sin®x
Options : |
8643518591 g(a) is a strictly increasing function

8643518592 g(a) is a strictly decreasing function

1
g(a) has an inflection point at « = 5
8643518593.

g(w) is an even function
8643518594.

Question Number : 71 Question Id : 8643512861 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

sin®x

GORaR AIRE M1, TRF g(a), (a € R) 600d@ 8(a) = — dx g caa @2ed

cos®xy + sin®x

R

Z2dey glee ?
Options :

8643518501, 8(0) 2@ QIR6Q @Fe aee
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ola) @@ RIQER 91T TR
8643518592, ©* 7 =

_ : ) o
gla) @ a=—— 60 IR QE=6E L UL |
8643518593, 2

(o) 99 99 IO
8643518594, &L 49

Question Number : 72 Question Id : 8643512862 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is true for y(x) that satisfies the differential equation

d
ﬁ =xy—1+x—y;y0)=0:
Options :
-1
¥l =g 2~=1
8643518595.
' 1
y(l) = e2 — 1
8643518596. y(®)
1 . |
y(l)=e? —e 2
8643518597. y(1)

8643518508, V(D=1

Question Number : 72 Question Id : 8643512862 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= [ (=] . d. .
3¢ rIg, 696 y(x) QIR A9 ? CAARR y(x) f =xy —1+x—y;y(0)=0, 2eRP AMRAIET]

de Q6a |
Options :
-1

y(l)=e 2 —1

8643518595.
} 1

y(l) =e2 — 1

8643518596. 4
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8643518597.

8643518598.

Question Number : 73 Question Id : 8643512863 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In a triangle POR, the co-ordinates of the points P and Q are ( — 2, 4) and (4, —2) respectively.
If the equation of the perpendicular bisector of PR is 2x —y+ 2=0, then the centre of the
circumcircle of the APQR is :

Options :

8643518599, (1 4)

8643518600. (0. 2)

(=1, 0)
8643518601

(-2, -2
8643518602.

Question Number : 73 Question Id : 8643512863 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

POR @@ P 99 Q @90 QQe QaIgen (-2, 4) 99° (4, —2) | 9@ PR @ @4 IAFEaa
AMRQE 2x —y +2=0 99, 6069 APQR Q 90QeQ €a9 6T :
Options :

8643518599, (1 4)
(0, 2)
8643518600.

8643518601. {~1pdl

i
8643518602. =53
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Question Number : 74 Question Id : 8643512864 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The line 2x — y+1=0 is a tangent to the circle at the point (2, 5) and the centre of the circle

lies on x — 2y =4. Then, the radius of the circle is :

Options :

8643518603. 53

8643518604, V4

8643518605, 4V5

W
8643518606. 35

Question Number : 74 Question Id : 8643512864 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6Qdl 2x-y+1=0 & Q@8 9@ (2, 5 FQO6Q 9@ IFe I° QBQ 698 696l x—2y=4 QU6Q
2P0 | 6069 QER MIAIT 26E :

Options :

8643518603, V2

8643518604. 5V4

o

8643518605.

8643518606. 35

Question Number : 75 Question Id : 8643512865 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the incorrect statement about the two circles whose equations are given below :
x?+y*~10x ~ 10y +41=0 and

x?+y*—16x— 10y + 80=0
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Options :
8643518607 Circles have two intersection points.

2643518608, Both circles pass ﬂlrough the centre of each other.

643518609 Both circles’ centres lie inside region of one another.

8643518610, Distance between two centres is the average of radii of both the circles.

Question Number : 75 Question Id : 8643512865 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Qaf Q8 AN M@ x2+y? - 10x— 10y +41=0 99° 2>+~ 16x — 10y +80=0 GUQAIRE |
ARG dARER 2deY RARTR QIg (94 @) |

Options :

8643518607, ooarwel Qb baa Qg g |

PRE 96 P68 AMFER caR 9Y i 696 60 R6Q |
8643518608. » =

8643518609. GEE QE6 6RE G RETR 6aR IR 2NILQ ACER TS |

8643518610, CTRLD FRIGET GOQ QGG QARG 2RIIG TR |

Question Number : 76 Question Id : 8643512866 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The equation of the plane which contains the y-axis and passes through the point (1, 2, 3)
IS
Options :

8643518611, X +z=6

8643518612, X T3z=10

8643518613, X T3z=0

3x

[
I
]

8643518614.
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Question Number : 76 Question Id : 8643512866 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AAERCE QAARad, A9l RU6R y-AY AL 9e° LIl @9 (1, 2, 3) Fi 69r ¢6 @6, Q19 B6T :
Options :

8643518611, X tz=6

xr+3
8643518612.

8643518613.

8643518614, X 2=0

Question Number : 77 Question Id : 8643512867 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the Boolean expression (p = q) < (q = (~p)) is a tautology, then the Boolean expression
p * (~q) is equivalent to :

Options :
8643518615. F 4

5
8643518616. 2 s

8643518617. 17 P

8643518618, 1 P

Question Number : 77 Question Id : 8643512867 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@ QRN @@ (p = q) < (q * (~p)) 9@ 9L (SECIERIH) 26T, 6069 QEAR A& p * (~q) AL
QAR RIS 26T :

Options :

p—
8643518615. e
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8643518616, F 4

8643518617. 17 P

8643518618, 1 P

Question Number : 78 Question Id : 8643512868 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let a =2i —~3j +4kand b =7i + j — 6k.

n

X b, ? - l; | 2; | ;( = -3, then r - ?; ?,); | k is equal to :

—— — ——
T

If r xa=
Options :

8643518619, O

8643518620. £

8643518621. -

8643518622, 19

Question Number : 78 Question Id : 8643512868 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

—

A6QQa a=2i -3j+4k 9@° b=7i+j-6k Q&

— —

r-\i+2j+k)=-3,6060 7-[27-3] + &) aque
Options :

8643518619.
8643518620.

8643518621.
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8643518622, 12

Question Number : 79 Question Id : 8643512869 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two dices are rolled. If both dices have six faces numbered 1, 2, 3, 5, 7 and 11, then the

probability that the sum of the numbers on the top faces is less than or equal to 8 is :

Options :

8643518623.

8643518624.

8643518625, 36

1
8643518626, 2

Question Number : 79 Question Id : 8643512869 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Qaf 0aIRI0Q AR FULA | 97 00 a0 82T Ay 1, 2, 3,5 7 9Q° 11 QIR §89
AU, 6669 aad A9IRI0N AUARICIA eI AaIG 8 @1 61 0lg @ A°6l AIRLIQ RIS
266

Options :

8643518623.

ur«|.4‘-=-'

8643518624.

215

8643518625.
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b | =

8643518626.

Question Number : 80 Question Id : 8643512870 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

f . f
. . i : | 2 ¥
The sum of possible values of x for tan 1(3: + 1) + cot 1| |= tan 1| ﬁ| is :
h e

x—1)

Options :

8643518627. 4

8643518628. 4

8643518629.

8643518630. *

Question Number : 80 Question Id : 8643512870 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1

Fy % KS\ - e
tan”'(x + 1) + cot | | = tan"1| = | Q16 x @ QAN FRIAIGGR AT 26E :
\ r WL S

x
Options :

33
8643518627.

32

4
8643518628.

31

4
8643518629.
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8643518630.

Mathematics Section B

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

864351192
6

Online
Mandatory
10

5

20

Yes

1
864351192
Yes

Question Number : 81 Question Id : 8643512871 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The maximum value of z in the following equation z=6xy + L.rzr where 3x+4y = 100 and

4x+3y = Dforx = 0andy = 0is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 8643512871 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

AMRRET z=6xy +y% 6IUOIER 3x+4y < 100 9@° 4x+3y =75499° x = 08 y = 0 | 696Q z

Q QIR R4 6T |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 82 Question Id : 8643512872 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
]m}l is equal to _

i : : _
If A= [;} :], then the value of det(A%) + det| A0~ (Adj(2A)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643512872 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

-

A% A= L' :] , 6662 det(A?) + det( A0 (Adj(2A))'"") @ gau Qqie
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643512873 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If (2021)%762 is divided by 17, then the remainder is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643512873 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Q@ (2021)3762) 17 QIQI QRUSY, 6969 RIGEHET 26T
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 84 Question Id : 8643512874 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

cos(sinx) — cosx

_1,4

If the function f(x)=

is continuous at each point in its domain and

£(0) = ﬁ then k is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643512874 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

cos(sinx) — cosx
o4

=
k -]

dQ gee f(x) = 0 210 9099 6360 g6aie @Q0IR ARER AT 9e° f(0) =

6e6e kaes |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643512875 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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I[f [ - | represents the greatest integer function, then the value of

\IIIJ%[[:-LE] cnsx}dx is

0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643512875 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
E:
a8 [ -] 9@ aSIye gdis aeeq 98I, 6069 | | [[1‘2] cos;r} dx| @ a4 26e

0

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643512876 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The minimum distance between any two points P, and P, while considering point P, on one

circle and point P, on the other circle for the given circles’ equations
x2+y2—-10x—10y+41=0
x2+y?—24x 10y + 160=0 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

83/87



3/17/2021
Question Number : 86 Question Id : 8643512876 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@R Q8 Q@4 ¥ +y>—10x— 10y +41=0

x2+y2—24x— 10y +160=0
A% P; 49 98 2089 39 6 P, 264 Q8 208 G99 9218 ¢06@ P, 8 P, 32 A6a A9l Q90 909
BB oo oo ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643512877 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[f the equation of the plane passing through the line of intersection of the planes
2x—7y+4z—-3=0, 3x—5y+4z+11=0 and the point (-2, 1, 3) is ax + by+cz—7=0, then

the value of 2a+b+c¢c—7 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643512877 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2x 7y +4z-3=0, 3x —5y+4z+11=0 QAER QOQ 686N B 8 (-2, 1, 3) A 6a@ Q7
QAR ANeLFR AMRAE A& ax+by+cz—7=0 249, 6069 2a+b+c—7 @ gAY 26E
I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 88 Question Id : 8643512878 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Let there be three independent events E;, E, and E,. The probability that only E, occurs is «,
only E; occurs is 5 and only E; occurs is y. Let “p’ denote the probability of none of events
occurs that satisfies the equations (a—2B)p=ap and (§ —3y)p=2py. All the given

probabilities are assumed to lie in the interval (0, 1).

Pr obability of occurrence of E;

Then, is equal to

Pr Dbahﬂit}-' of occurrence ol E;i

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643512878 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A69@a E,, E, 9e° E, 536018 goq (QI11e) 904l | 6099 E, 904l aFeia arIeiel o, 6699 E,
AeEl ATI6 ARAMS| B B 689 L, 9eel AfR ARIMG! y 2T | A6aa cal4d A6l @ adela
AAIMBIY p 96 9TE KRN, LD (a—2B)p=ap 99° (B —3y)p =2py AMQE9Lq 98 Q6a |
AIFERSI 64, A AAUMGI (0, 1) LA AR AVLE |

E, 9604 98 daig|
E, 64l afela aaieyel

ELEQ,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643512879 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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_ 1-2%)
If f(x =sm{cns 1{—‘
/) ‘ B

\

b5 T ’ J b
and its first derivative with respect to x is —lngE 2 when
a
J

5 . = ) Fy =
x=1, where a and b are integers, then the minimum wvalue of |a~—b“| is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643512879 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

9Q° Y@ OORQ x A8 dad ZoRee L
da
s

log, 2 (6€60696@

\,

= _ S ol
ga f(x)= sm{cos 1(—_ ‘
f l_ 1+ 2% )

x=1, a 8 b gda°al) 6069 |a2—b?| @ QIFY =N 26e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643512880 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

e

If a =ai +pj +3k,

b = [5.1' rx-_;" k and

—

such that a - b =1 and E

= —3, then E[{; s ;j ; ;] is equal to

—3
C

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 90 Question Id : 8643512880 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

—

9@ a —ai +pBj +3k

ol

=—-f i —uo ;.r'. k 9e°

(7. 7). 2] aae

= -3, 606Q E(_[_ﬂ i Bliv oy

!
[

ra

]
o)
]
)
D)
@)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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